Modular
Assembly Technology

SVSTENS

Connecting Elements-Die Cast Bracket 3.21.30.01

Connecting Elements

Die Cast Bracket-PG30-30x30

Material : die cast aluminium alloy

N =
o
= &
A ‘ Fastening Set B ‘ Fastening Set
X M6x14 Boll
4% = W
r < M6 Wash
Z:cmpglaastzs zinc p\aastezr
Description Fastening Set Mass (g) Part No.
Die Cast Bracket-PG30-30x30 (pcs) 21 3.21.30.3030
Die Cast Bracket-PG30-30x30 (set A) 2xA 42 3.21.30.3030.STA
Die Cast Bracket-PG30-30x30 (set B) 2xB 48 3.21.30.3030.STB

Modular aluminium Piping High Pressure| Control And Framing Systems

Pneumatic Automation Ball Valve

Systems Ball Valves www.cafsystems.in



Connecting Elements-Die Cast Bracket 3.21.30.02

Connecting Elements

Die Cast Bracket-PG30-30x60

Material : die cast aluminium alloy

Al romse B[ rosemmse
T e
© iwpass Oy
Description Fastening Set Mass (g) Part No.
Die Cast Bracket-PG30-30x60 (pcs) 53 3.21.30.3060
Die Cast Bracket-PG30-30x60 (set A) 4xA 93 3.21.30.3060.STA
Die Cast Bracket-PG30-30x60 (set B) 4xB 105 3.21.30.3060.STB

Modular aluminium Piping |High Pressure| Control And Framing Systems
Systems www.cafsystems.in

Pneumatic Automation Ball Valve

Ball Valves



Modular
Assembly Technology

SVSTENS

3.21.30.03

Connecting Elements-Die Cast Bracket

’

Connecting Elements

Die Cast Bracket-PG30-60x60

Material : die cast aluminium alloy

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0

56
30 6
< | |
©
&‘.
2
A ‘ Fastening Set B ‘ Fastening Set
G § e
© < — | | O
S| | S
Description Fastening Set Mass (g) Part No.
Die Cast Bracket-PG30-60x60 (pcs) 120 3.21.30.6060
Die Cast Bracket-PG30-60x60 (set A) 8xA 200 3.21.30.6060.STA
Die Cast Bracket-PG30-60x60 (set B) 8xB 224 3.21.30.6060.STB
. . ini iDi High Pressure| Control And Framing Systems
Pneumatic Automation Ball Valve Modular aluminium Piping g g sy

www.cafsystems.in

Systems Ball Valves



Connecting Elements-Die Cast Bracket 3.21.40.01

Connecting Elements

Die Cast Bracket-PG40-40x40

Material : die cast aluminium alloy

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0

[o-)

C ‘ Fastening Set D ‘ Fastening Set E ‘ Fastening Set
M8 Flange Locknut ' ¢ M8x20 Bolt ' < M8x20 Bolt
‘ ¢ zinc plated zinc plated zinc plated
20 Tblo M8 Washer ° NiIB Washer
ez SE i
.W nickel plated
Description Fastening Set Mass (g) Part No.
Die Cast Bracket-PG40-40x40 (pcs) 50 3.21.40.4040
Die Cast Bracket-PG40-40x40 (set C) 2xC 92 3.21.40.4040.STC
Die Cast Bracket-PG40-40x40 (set D) 2xD 92 3.21.40.4040.STD
Die Cast Bracket-PG40-40x40 (set E) 2XE 106 3.21.40.4040.STE

Modular aluminium Piping High Pressure Control And Framing Systems

Pneumatic Automation Ball Valve
Systems Ball Valves

www.cafsystems.in



Connecting Elements-Die Cast Bracket

3.21.40.02

Connecting Elements

Die Cast Bracket-PG40-40x80

Material : die cast aluminium alloy

36
8.5
Lo_i I
w0
0
©
[Te) I
&
!
©
b
C ‘ Fastening Set F ‘ Fastening Set G ‘ Fastening Set
‘ ¢ 18 Flange Locknut ' 4% ' %
;r: :(I)a;e:l t ° 1 g/il:csizgtne% Washer ° ¢ ZSCSFSQ&% Washer
Description Fastening Set Mass () Part No.
Die Cast Bracket-PG40-40x80 (pcs) 125 3.21.40.4080
Die Cast Bracket-PG40-40x80 (set C) 4xC 210 3.21.40.4080.STC
Die Cast Bracket-PG40-40x80 (set F) 4xF 220 3.21.40.4080.STF
Die Cast Bracket-PG40-40x80 (set G) 4xG 250 3.21.40.4080.STG
| | | | |
. _ . . Hiah Pressure| Control And Framing Systems
EraurERe Auteaten Ball Valve Modular aluminium Piping g

Systems

Ball Valves

www.cafsystems.in




Connecting Elements-Die Cast Bracket 3.21.40.03

Connecting Elements
Die Cast Bracket-PG40-80x80
Material : die cast aluminium alloy

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0

76
40
L‘?i | |
©
o
©
SN
C ‘ Fastening Set F ‘ Fastening Set G ‘ Fastening Set
‘ g 18 Flange Locknut ' 4% ' 4%
::::::-9: e < Z:CS;Epegd Washer e < g/iI:CSFzgitr;gd Washer
. ¢ MB T-nut . ¢ MB Pre-set Nut
nickel plated nickel plated
Description Fastening Set Mass (g) Part No.
Die Cast Bracket-PG40-80x80 (pcs) 260 3.21.40.8080
Die Cast Bracket-PG40-80x80 (set C) 8xC 428 3.21.40.8080.STC
Die Cast Bracket-PG40-80x80 (set F) 8xF 452 3.21.40.8080.STF
Die Cast Bracket-PG40-80x80 (set G) 8xG 508 3.21.40.8080.STG

Modular aluminium Piping High Pressure Control And Framing Systems

Pneumatic Automation Ball Valve .
Systems Ball Valves www.cafsystems.in



Connecting Elements-Die Cast Bracket 3.21.4501

Connecting Elements
Die Cast Bracket-PG45-45x45
Material : die cast aluminium alloy

6.2 8.2 10.2 10.2
ad L 22
41

8.5 9
w0
=
0
w

41

H ‘ Fastening Set J ‘ Fastening Set K ‘ Fastening Set
. ¢ 18 Flange Locknut ' 4% ' 4%
:::::_e:l e < Z:CS;:QPS% Washer e < Z:cspﬁ:?e% Washer
x25 T-blot asher asher
Description Fastening Set Mass (g) Part No.
Die Cast Bracket-PG45-45x45 (pcs) 72 3.21.45.4545
Die Cast Bracket-PG45-45x45 (set H) 2xH 118 3.21.45.4545.STH
Die Cast Bracket-PG45-45x45 (set J) 2xJ 122 3.21.45.4545.STJ
Die Cast Bracket-PG45-45x45 (set K) 2xK 134 3.21.45.4545.STK

Modular aluminium Piping High Pressure Control And Framing Systems

Pneumatic Automation Ball Valve .
Systems Ball Valves www.cafsystems.in



Connecting Elements-Die Cast Bracket

3.21.45.02

Connecting Elements

Die Cast Bracket-PG45-45x90

Material : die cast aluminium alloy

165 235

235

155

H ‘ Fastening Set J ‘ Fastening Set K ‘ Fastening Set
‘ I8 Fllantgz Locknut ' % ' %
Zinc plate ¢ ring Washer ¢ ring Washer
Vo5 T e Zl:cs;atedw : (=) Zlgcsgflatedw :
x25 T-blot asher asher
. < M8 T-nut MB Pre-set Nut
nickel plated nickel plated
Description Fastening Set Mass (g) Part No.
Die Cast Bracket-PG45-45x90 (pcs) 190 3.21.45.4590
Die Cast Bracket-PG45-45x90 (set H) 4xH 282 3.21.45.4590.STH
Die Cast Bracket-PG45-45x90 (set J) 4xJ 290 3.21.45.4590.STJ
Die Cast Bracket-PG45-45x90 (set K) 4xK 314 3.21.45.4590.STK

Modular aluminium Piping High Pressure Control And Framing Systems

Pneumatic Automation Ball Valve

www.cafsystems.in

Systems Ball Valves



Connecting Elements-Die Cast Bracket

3.21.4503

Connecting Elements

Die Cast Bracket-PG45-90x90

Material : die cast aluminium alloy

H]

Fastening Set

Fastening Set

K ‘ Fastening Set

M8 Flange Locknut
zinc plated

zinc plated

' ¢ 16525 Bol
(S]

zinc plated

' ¢ 16525 Bot
(S]

o < ZI:CSPLE?G% Washer < glilscS‘S;i;% Washer
. < M8 T-nut ‘ < M8 Pre-set Nut
nickel plated nickel plated
Description Fastening Set Mass (g) Part No.

Die Cast Bracket-PG45-90x90 (pcs) 390 3.21.45.9090

Die Cast Bracket-PG45-90x90 (set H) 8xH 574 3.21.45.9090.STH
Die Cast Bracket-PG45-90x90 (set J) 8xJ 590 3.21.45.9090.STJ
Die Cast Bracket-PG45-90x90 (set K) 8xK 638 3.21.45.9090.STK

Pneumatic Automation Ball Valve

Modular aluminium P|p|ng ngh Pressure| Control And Framing Systems

Systems

Ball Valves

www.cafsystems.in




